
1

2

3

4

5

MBS2
Bar Stool

Assembly Instructions:
1. Place leg #3 on top of leg #4.

2. Place the swivel #2 on top of the legs, turning top part of the swivel at a 45° 
angle to the bottom part. See Figure A for proper alignment.  Align the bolt 
holes on the bottom swivel with the bolt holes on the legs. 

3. Use the (4) M6 x 12mm bolts to assemble the swivel to the legs. Tighten using 
the (4) M6 nylon nuts.

4. Slide the support ring #5 over both legs aligning the bolt holes on the ring 
with the bolt holes on the legs. Use the (4) M6 x 40mm bolts to assemble the 
ring to the legs. Tighten using the (4) M6 nylon nuts.

5. Place the seat #1 on a protected surface on the ground. Turn the assembled 
legs  upside down and align the swivel holes with the seat screw holes. See 
Figure B. Use the (4) M6 x 30mm screws to secure the seat to the legs.

6. Once the legs are secured to the seat, turn the bar stool back onto its legs.

Tools Needed:
#2 Phillips Screwdriver

10mm Wrench

Parts Included:
4 - M6x12mm Bolt

8 - M6 Nylon Nut

4 - M6 x 40mm Bolt

4 - M6 x 30mm Screw

Figure A Figure B


